Entering data

startVol := 20mL

StockConc := 20 %

171.3
180.1
189.1
FlowTime := | 196.1
205.9
214.9
221.8

Entering contsants

-SEC

add :=

Estimated from spretsheet

mL

DMF 25C from Lutinger, G.; Weill, G.; Polymer, 1991, 32, 877

k=4510 2 Mt

Calculating concentrations

i:=0. rows(add) — 1
~ StockConc-i-0.5mL

cone. = -
I startVol + i-0.5mL

conc =

0
4878 x 10
9.524 x 10
1.395 x 10
1.818 x 10
2222 x 10

2.609 x 10

4

4

3

3

3

3

gm
mL




Calculating the specefic viscusity

0
FlowTime. — FIowTimeO
S ! 105.312
nsp;j: FlowTi
OWTImeEy-conc; 109.107
mL
nsp = | 103.756 | —
gm
111.092
114.536
113.008
Making a plot for visualization
j:= 1. rows(add) — 1
011 ]
nspj
#%%0.105 [~ .
01 | |
0 1 2 3
COﬂCj
Eliminating the first point (solvent only) and units
nsp =
mL
concl. . := conc..—
i1 gm
gm
splj_q := nspj—
Nsplj—1 = n3p;j L
Calculating best fit line on the data
coor := Iine(concl,nspl) 102.889
coor = 3
4.162 x 10

MolWeigth := 10( a ==

mol

log( coorg)—log(K)
gm

MolWeigth = 6.202 x 10* 91
mol

0.105
0.109
0.104
0.111
0.115
0.113

| 3



